P76 Oy=knrs7o57

o FEA DK ax+tby=c

a, b,
ST,

c X9,

a=0, b=1, c=30DHE4H i y=3
Ihb FRREBEXDE - - - fRIT, yEERN 3 THHRITVU,

X JEREIXE 9 THUWY,

(BRI —RBEEITy =a x+b)

ZHARREVSTINET N2 TESTHNNE | Hiznniz<y, |

(1, 3) (2, 3) (=1, 3) (4, 3) (—2, 3) « « « =
INEZITHMICEDE - - RERU 2 xENSVATARER W3
J 4|
n~ A
e |
é; '
= a {’ . _»\’—9—
b/f'\»
b 1
6 111’ o - -y ;
fl\(ﬁ?’-b
.J
M3
(1) y=2
(1, 2) (2, 2) (3, 2) (=1, 2)
(2) 2y=—6 EZXoLY y=—3 (1, —3) (2, —3) (—1, —3)



Oy =kDO7 7 7L x I ATRERE 2D,
P76 x=horo7

“ kRO ax+by=c

a, b, cliI#<Td, (BLARARIC—REEITy =a x+b)
ET. a=1, b=0, c=2084 HiT x=2

Ihb FRREBEXDE - - - fBIT, xEBERN2 THHITWVU,
yEREILE S THUVWY,

ZFARREVS T NET N2 TESTHNNE | HiZnniz<yy, |

(2, 1) (2, 2) (2, —3) (2, 4) (2, —1) =+« =« -
J y
N v)
!K' ‘)I-s'?v N
-3 2 3ASNE
5 r p——
2 4 s‘,,,_‘_)i 3] 1\

Ox=hO7 77Xy I ATIZR D, HR,

4 [RoTHELL I, |

(1) x=—2 (2) 3x=12
X =4

P\ir




HREZTELDTINTVET, P7T7TORTH-/TZLE ZAFHATIEE Y, |
R ERZZOWWR, x=- D7 T 7idy 8T
y=-+ « DT 7 x WITFAT

15 [R5 Z@A TS, |
x=0 y#IIHATTOLZ®ED « -+ - vl
x=0 xHNIFATTOZ@D - + - x Wl



